Dawson College: Introduction to Statistical Methods: 201-922-DW-S1: Fall 2015

Name: oLv
Student ID:

Quiz 1

This quiz is graded out of 15 marks. No books, notes or cell phones are allowed. You must show all your work,
the correct answer is worth 1 mark the remaining marks are given for the work. If you need more space for your
answer use the back of the page.

Question 1.(5 marks) How many orderings are there of the 8 letters in the word: CALCULUS
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Question 2.(5 marks) How many different ways are there of sitting 6 students and 3 teachers in a row of 14 seats
if a teacher must be seated in the first seat.
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Question 3.(5 marks) How many different soccer teams (11-players) can be formed from a group of 40 people?
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Quiz 1

This quiz is graded out of 15 marks. No books, notes or cell phones are allowed. You must show all your work,
the correct answer is worth 1 mark the remaining marks are given for the work. If you need more space for your
answer use the back of the page.

Question 1.(5 marks) How many orderings are there of the 7 letters in the word: ASSUMES
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Question 2.(5 marks) How many different ways are there of sitting 5 students and 4 teachers in a row of 12 seats
if a student must be seated in the first seat.
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Question 3.(5 marks) How many different hockey teams (6-players) can be formed {rom a group of 30 people?
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